PAPER1
; D 002886 =002

Add 1 to digit 8.
which is 6 is greater in value than 5

39 — three sigificant figures
because the digit next to it,

2 C 000825=825x10"
Shift the decimal point 3 places to the right

3 D 20:;.10:4%
=4042 x 10°



A Distance = Speed x Time

: Time = _Distance |
' Speed 8 D Interior angle LMNOP
143 x 10°x 103 | _(5-2)x180° 5
me=" 3x 10 — 5 =108
(1.43) 10" y 1om £LPQ =360° - 95° - 108° = 157°
=73 )X o7 } & L £ PLR exterior angle =72°
04T x10us  LQRL=360° - 45° — 157° = 72° = 86°
— 0477 x 10?
=477 x 10* x 10
=477 x 10°

5 B 5 3 51 50

| I m .| 1
r o
| 5'+mST+5' +50= 18] 180° — 130°
1254 25m+5+ 1 = 18] 9 D LOQR=/ORQ= 5 =25°
25m + 131 = 18] /. RPQ = 65°
25m =50 / ORT = tangent line to the circle
m=2 £ ORT =90°
¢ B 11011101, / QRT =90° — LORQ
~ 1000110, =90° - 25°
: =65 °
sox=65

10010111,

17 D x+_v+90°=36()° 10 A

x+y=270° |
Angle x > Angle y . i

N 270° :
0,L x> > ‘ ‘k‘

" Interior angle x is

180° Clockwise

o200 350
n

By using try and error method 11 A 5mx % =1m

(5-2)x 180° _ 108° 5 1
n:S,_—-—g—-P——-IOS <135 8mx%=l.6m
Not satisfying the statement x> 135° .

6 2) x 180° 12 C sin90°=1
n:(),*(_:__)ﬂéi-—’*.—- 120°, 120° < 135° sin 180° =0

0 sin 270° =~ 1
Not satisfying the statement.t > 135 | A
o 4° 4 )
]1:7‘__(_?_—_2_)_71—1—8—0—-—5128—:}_,1287 < ]jt_ .
135° | ’\
p— ! X

Not satisfying the statement x >133 3 N

9, (9—2) X ]800 — 1400, l40°> ]350

9 .
Satisfies the statement X % 139

n=




55
0.707

_____ T 0.707

QT
I

\ '
' |

3

I

_ OQQosite

= Adjacent
0866 _ 59.99° = 60°
0.5

tan x =

0.707
v = 45°
@any=4707 |
0 = 360° — 45° — 90° — 60° = 165°

Plane K is WRQOX, where the line is VQ and
the angle is Z WQV

z° is the angle of depression from the hot air
balloon to Rahman

£ MPN = 40°
MN =30 m

. o 30m
Slrl 40° = W
PM = 46.672
PM = NQ
NQ = 46.672

45 m
tan @ = 1.037

LNKQ = 46.04°

Angle of depression from point Q to point K
= 90° — / NKQ

= 90° — 46.04°

=43.96°

z
>z

~t= 10} m

10 m Q

18 C 60 x 0= 6300

8 = 105°
0 =105°-90°
= 105°8

19 A pP—q'—(p*+2pg + 47
[J?‘ = (l;! . 117 . 2pq . q2
~ 2pg — 24>

0 A O
2 h_...ril??—!':"

_ W —r>—2h(h-r)

(hh—r)h? —7r2)
_ R —r=2h+2hr

h—r) (" = )
=R+ 2hr-r
T (h—-r)(P—r?)
_— (R =2hr+7r’)
o (h=r)h* -1
= (h=r)
C(h=r)(P =1

—(th—-r) _ 1

Sh—-rh+r) h+r

21 B —3’—2"*—1’— =2(3 + 4p)

3r+p =43 +4p)
3rr+p=12+ 16p
16p—p=3rr—-12
15p =307 —-4)
_3(rr—4)
- 15
r’—4

L

22 C 2(x+3)+2x=48 +x
2x+06+2x =48 + x

dx—-x=48 -6
3x =42
.y
3
= 14
3
23 B n =3 x 3(4’\?]
n=3?x133
”:3 243
=3
n® =32
0



4JC[

”

26 B

27 B

28 C

1
rlO x (458)2 ’
A

(r' §24)*
1

- 3
rs®

3
(r0o9x2xs (45)

(2)
23,_((,):_1»

—_—
= 2 x3)
S(

o't

4m-3=13+6m
4m—6m‘5 13+3

1\

\

—_
=

2m =16
16
m=T_9
m=-8
Y 7=
2—7—-9 1—3)‘>6
y—14=-18 —3y>6-1
y=-18+14 -3y>5
y=-4 g
f -5
-
¥
y<-1.67
Thus,-4=<y<-1.67
yv=-4,-3,-2
sum of data

Mean =

number of data
14 = 446+84+9+x+y+17+21+22+23

10
x+y=30
Median =4, 6,8,9, &, 17,21,22,23
_x+y
=2
_30
"R
=15

Total angle of a circle = 360° ,
2x° + 3x° + 20° + 140° + 60° = 360°
5x° +220° = 360°
5x° = 140°
A" =28°
Grade D = 3x°
=3 x 28°
= 84°
Total students with grade D
5.8 % 1080 students
00

= 252 students

29 D April = 30 ¢cq
un = ¢ My iy o 120 cary
. 4y Will be 3
0, 3x 4 x + 120:240 \
4x =19
May — + Y = 3()
Thus
us May 3(30) = 90 car
3 i
0 Mean - %im # frequen
. B T L )
Sum of frequencies
Time Frequency, T
7 Midpoint, fx
5-9 14 k0 e
7= 7 Tx14=098
10-14 8 M  t2esee |
| 2" et
15-19 10 15419 I
__2___=17 17x10=170
i _-\4&_&_—___
s BT
S =22| Vx6=1%
R
) 125429
5% 12 R

3l

Mean = 28+96+ 170 + 132 + 324
50

_80
50
=164

y=ax_2+bx+c—’ quadratic equation -

Wheny=0,2=1 C=l}m"—interce t
y=0!x=_1 C=I ) p

0=a(l1y+b(1)+1 0=a(-12+b(-1)+1

®

D-@ b-(b=- -1
2b=-1+1
2b=0
b=0

When b =0

a+0=-1

a=-1 _

v =(— | }(\) + (0)\. + |

-\' =-—x+ ]

Qet & =5 v, W)

Get 0 = {v. Wi

Get Q' = {r st} - is not the element of set Q



33 B Swimming club=40+ 15+ 70 +x
Hockey club = —f-l‘— Swimming club

15+,r=%(40+ 15+ 70 +x)

6(I5+1)=40+15+70+x
90 +6x=125+x
6r—x=125-90
5r=35
x=7
Golf club = 6x
=6(7)
=42

M A y=mx+c
Linear equation of PTisy=x+5
Soom=1landc=35
Linear equation of PQ is y=mx + ¢
Where the point Q has y=0and x =4

So0=m(4)+5
O0=4m+35
dm = -5
__3
T4
35 C y=mx+c
When y=0,x=-10
So —10m + ¢ = 0 == )
Wheny=-4,x=-2
SO—2m+C=—'4 .............................. @
O-@
—10m - (-2m) =0 - (-4)
~10m+2m=0+4
' - 8m=4
__ 1
T2
Thus,—lO(—-;-)+c=0
54+¢c=0
¢ =-5 = y— intercept
36 B Total candidates = 240

Medical assistants = 60

Probability of pharmacy assistants (x) is =

So pharmacy assistants,
x

240

X =

-

1
6
1
s

| A7 D There Arc <=
| &
1C _'r'.-‘e numt)cr = i. | ;. J-J, 29 and 31

= 5 numbers

Prime number = —2'—2“
y s

1
C y*3e-1
k
Y=T-1
Wbcn}‘zz,x=3
So,
k

2=53)-1
k

———

6-1
k=2(5)
k=10

—2(2x-1)=10
—Ax+2=10.
—4x=8

1
6

Not a pnm numberz—z-z—ua 17

29 pumbers in between Numbe, »

F7)



40 C Ali'srestaurant,x=(4xRM30) +(6xRM21 60

Ayu’s restaurant, y = (7 x RM30) + (9 x RM21 60)
S0, -

(4 6)(30.()0) =( X )
7 9/\21.60 y



